Math 3306
Problems 31 – 45

Logic puzzles!

31.
Laura, Susan, Claudio, and Pedro were each asked to name their favorite fruit.  The fruits named were bananas, peaches, plums, and apples.  Each person had a different favorite; no two liked the same best.  One of the boys likes apples and the other likes peaches.  Laura said she did not like plums and Pedro said his favorite fruit began with a p.  Identify each person’s favorite fruit.’

32.
I’m following these instructions:

pick a number, add 15 to it, multiply your answer by 3, subtract 9, divide by 3, subtract 8.
My answer is 94.  Quickly, what was my number and WHY are you sure you’re right?
33.
Jim tells lies on Fridays, Saturdays, and Sundays.  He tells the truth on all other days.  Mary tells lies on Tuesdays, Wednesdays, and Thursdays.  She tells the truth on all other days.  If they both say, “yesterday I lied” then what day is it today?
34.
There are exactly 5 parking spaces along the front of the law offices of Stetson, Neumann, Ostrom, Savidge and Schoorl.  The colors of the lawyers’ cars are blue, tan, black, silver, and burgundy.  Match the owners with their car colors using the following clues and then determine whether Neumann is male or female.

Neumann is    (    ) male   (    ) female 

Clue 1:

Ostrom does not own the silver car.

Clue 2:

The woman who parks the car in the fifth space owns the burgundy car.

Clue 3:

Stetson owns the black car.

Clue 4:

Schoorl parks her car in the middle space.

Clue 5:

There are cars parked on both sides of Neumann’s.

Clue 6:

Ostrom parks his car on one end, but the man who owns the blue car does 


not park on one end.

Clue 7:

A woman parks in the fourth space.

35.
Some students feel that Professor Smith is old-fashioned and too regimented.  For example, the desks in his classroom are in straight rows with the same number of desks in each row.  He never allows deviations from this pattern.  If all the students in his Problem Solving class are present, then every desk will be occupied.  John, one of the students, is assigned the desk that is located in the second row from the front and the 4th row from the back.  The desk is also the third one, counting from the left side of the row and the fifth one if you count from the right side of the row.  

How many students are in the class?  ______________

36.
Given 3 different natural numbers (a, b, and c), what is the sign of the following expression: 

negative (     )  or

positive (     ) ?  

Give a closely reasoned argument about how you know you’re right.


(c ( a)(b ( a)(c ( b)(a ( c)(a ( b)(b ( c)
37.
Find the next 2 numbers in this sequence:
1, 0, 2, 3, 3, 8, 4, 15, 5, ….

38.
Find the pattern and find the sum for n = 10.
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39.
Evelyn, Henry, and Al play a game.  The player who loses each round must give each of the other players as much money as the player has at that time.  In Round 1, Evelyn loses and gives both Henry and Al as much money as they each have.  In Round 2, Henry loses and gives Evelyn and Al as much money as they each have.  Al loses Round 3 and gives Evelyn and Henry as much money as they each have.  They decide to quit at this point and find that they each have $24.  How much money did each start with?
40.
The Cougar Kiss Society has 100 members.  One member finds out that the March meeting has to be changed to another date.  This member activates the Society’s text tree by texting 3 other members, each of whom texts 3 other members and so on until everybody has been texted.


What is the greatest number of Society members who do not need to text anyone?

41.
Mike delivers prescriptions for a local pharmacy.  On Tuesday, he delivered 5/9 of the prescriptions that were already in the van from Monday and ¾ of the prescriptions ready for Tuesday.  After swinging by the pharmacy to pick up 10 more filled orders, he delivered 2/3 of those he had with him.  Then, going back to the pharmacy for 12 more filled orders, he delivered 7/8 of those in the van.  Finally, he grabbed 3 more from the pharmacy and delivered the 5 remaining prescriptions.  How many prescriptions did he deliver on Tuesday?

42.
Sir Gawain came to a drawbridge that had a sign that the troll who controlled the bridge would give him double the money in his pocket each time Sir Gawain crossed the bridge and only charge him $1.20 to cross each time.  Having already slain the dragon and not having much to do, Sir Gawain decided to cross back and forth and earn some money off the troll to buy flowers for his Lady Judy.  

Sure enough, each time Sir Gawain crossed the bridge, the troll doubled his money and only took $1.20 in toll.  After his third crossing, Sir Gawain was astonished when he paid the fee and found himself penniless.


What is the name of Sir Gawain’s horse?


(just joking – it’s Gringolet, but really:  how much money did he start with?)

43.
A rich, but frugal, guy has 5 sections of chain, each consisting of 3 silver links.  He wishes to make one straight length of chain for a lariat for his girlfriend but only wants to pay $3.00 for the work to the jeweler.  The price for opening a link is 30 cents and the price for closing a link is 70 cents.  Can he get it done for $3?

If so, show how.  If not, explain.

44.
A ration fraction in lowest terms is equivalent to the repeating decimal:
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Find the fraction!

45.
Jimmy, Ronald, George, and Bill spent the afternoon picking apples, which they put in the back of their pickup.  They drove home and crashed without dinner.  During the night, Jimmy woke up and ate ¼ of the apples.  Then Ronald woke up and ate ¼ of the apples that were left.  Then George woke up and ate ¼ of the remaining apples and finally Billy woke up and ate ¼ of the rest.  Since it was daylight by then, they counted the apples that they’d be taking to the farmers’ market to sell and found that they only had 81 apples.  How many apples did they start with?
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